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f Xx+3=2x-2 whatis the value
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Eguations Part A
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2x+7=15 -1

What is the solution to the equation above?

Yx = 2
2
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y=3x414

Given the equation above, if y=12,

what 18 he ;ﬁuu_e\of X
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What valuc of x satisfics the cquation
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Basics Equations Part A

If 4t — 10 = 11what is the r 1 2
Sk e JO.

4
value of 10t - 107 3 )

What is the solution to the cquation
@ 1t o= (-

abovc?
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Basics

It ley%% , which of the following
proportions is equivalent?
X 3 /4\’
Af=s %Y =36
&
@ i e E é\s.’: BX"ZB
y 3
>( -2 BN= 3%
g1 Z %
>6' y 8 3
S

If 2x — 3 =0 .what is thc valuc of
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Egualions Part B
If -a l, what is the value ¢f 2 ¢
3b \5 a
Jod =37
A
é <3
a
If -Lz- = (.5, what 1s the value of x?
X+ 5}\}}},
A) 15 -
B) 3
D) 16
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Basics Equalions Part B
B
Sy =2(4=2 a5 o P o 2X—4 =1
SO AR, 222 22—t 41 and t = 3, what
3 5 4 6
at is the value of y in the equation above? 1§ the valuc of x?
/
Y A+ - S ‘
] 3./25 A.27 ‘) )x- 1 Ve
- B. -1 1
m
C.11 S . <

\
oz (775 z

If -; of 102118 6 morethan x. what i the value of x ?
. 2 </07C> = 6§ +x
VA =
B) 3

C) 4 5h}ﬁ"
D} 6 Q’”‘%\
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Basics Equations Part C
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Basics Equations Part C
1
3x—1= 3k2_x Vk+2 -x=0
In the equation above, k is a constant. If(x = 9)what
—R ’ is the value of k ?

[f k>0 and X = 2 1n the equation : ‘el"auw =t
above, what i1s the value of k? B)’ ke e Soh_
(Gl‘id ill) 3(2) - | - J}%Z-—(zg C) 16 /ﬁé? - -,.,‘Iz

(D @7 }42@1

7
@ fr7=1"

What value of x satisfies the given equation?

A)O /7
L
B) 14 x-3=79
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Basics Eqgquations Part C

L
The solution set of the equation Which of the following is a sofution to the equation
. 0+ 1-w=-1is: @T5+2-5)
YIQ X S
A {0,1,4)  [>=) TE 1
&
' B SEB. 11 only
B0 laco+1 - (O caty . S 4
-z [ X X X D. I and III

sh
S x-2=Jx+10

Which of the following values of x is a solution to the
equation above?

A) -1
B) 1
C) 4
D) 6

Mr. Kably
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Basics Inegualities (Solve)
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Basics

Among the following ordered pairs,
which one 1s a solution of the system

y>x
V= = \
2 o - ol OV L
(A) (—1,0)
B. (0,—1)
C. (—=1.2)
D. (0,1)
\
2
H q/\/\ﬂ____‘
If 3<2x+7<15, which of the
following integers  represents the
smallest value fo
A. 1 VR Ll \<§£
2 : -
Qé}?—z [..2 & 95¢ 52N )
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Inegualities (Solve)

Among the following ordered pairs,
which one 1s a solution of the system

1

y< X o
y> x-2 '
B (1.2]

A (2, 1)
C. (4, 1)

D. {1, 4)

Mr. Kably
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[f 2<3x-1<11 which of the
following integers represents the

Greatest value of x+27
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Basics Inequalities (Solve)

N ~3 <
It 2z - 7(Z — 1) - 1and z 1s an integef, Which of the following numbers is NOT a solution
what 1s the least possible value of z? of the inequality 3x =52 4x -3 ?
_1) =1
% 9 2(-2)-7 (-2-1)=1% A -1
H o 20 - 307 >
. :]’ (2-") — -3 C. —3
©2 9(2)-- D. -5
D. 4
3L & Sy . —ox +y <3
-3<2x=y<14 | Consider the system {y bx> 5"
Wh{ch point could b: the solution for For x = 2, what is the highest integer
the inequality above’ value of y?

A (0,3) 293:3
B (3,28) 0o+ )
(C 3,“4) 2(3)-Y = LL—"

D. (4,12)
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Inegualities (Translation)

Basics
m
[f the @m of half a number and _3_ 1S Jackie has two summer jobs. She works as a tutor,
- B which pays $12 per hour, and she works as a
S@ller\Lh\a_l} twice the same number lifeguard, which pays $9.50 per hour. She can work
added to 3. which of the following no more than 20 hours per week, but she wants to
g earn at least $220 per week. Which of the following
could be the systems of inequalities represents this situation in
terms of x and y, where x is the number of hours
a 1 JE X+ 3 < A x4 3 she tutors and y is the number of hours she works as
B 0 \ 2 a lifeguard?
' | _ A) 12x+9.5y < 220
Lx-2x<L 53 Y
C. —0.5 L x+y=220
D. -2 >rg x<_<_>,_,., B) 12x+9.5y < 220
- x+y<20
O
@ C) 12x+9.5y 2 220
The rental-company manager 1s supplying chairs x+y<20

and umbrellas for a pool party that 90 guests will

attend. The manager will provide enough chairs D) 12x+9.5y 2 220

) - x+y=220
for at least — of the guests and umbrella

: 4
33- of the m, where each umbrella shades Ci;ﬂil'e, ;hmetalsmith, has 500 grams (g) of sterling

| | suver. She wants to use the sterling silv

3 guests. Which of the following systems teast 20 rings and at least 10 bracelgetssl.I Se}:el z:z a.?»teg a;f
represents the number of chairs, ¢, and the number sterling silver to create each ring and 40 g of sterling
of umbrellas. u. that the manager will provide for silver to create each bracelet. Which of the following
the party? systems of inequalities represents this situation,

where r is the number of rings and & is the number

)Kﬁ\c <60 C >/ of bracelets Claire can create with the sterling silver?

u=>20 A) 3r+4006 < 500
re 3
ﬁé)c?_’ﬁo s < b= 40
S~
uz=20 B) 3r+ 4056 <500
%)\C(—\m r2 20
b2 10
u<20

B C) 20r+10b < 500
260V r>23
b2 40

D) 20r+ 10b < 500
r2 20
b>10

Mr. Kably
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Basics

A craftsman i1s looking for two kinds of paint
from a wholesaler. The first kind a 1s
packaged in 10 kg jars, the second b in 25 kg
jars. The 10 kg jar costs $45 and the 25 kg
one costs 1208. The load must not exceed 250
kg and the total sum must be at least 9008 in
order to get a discount. Which system of

imequalities verifies the given information?

{ 10a + 25b = 250 < 260
7“ 45a + 120b < 900 2
- {10a+25b$250z/
" W45a + 120b < 900¥

{ 10a + 25b = 250
45a + 120b = 900

{ 10a + 25b < 250 +—
45a + 120b = 900 .—

In a certain board game, a player can
make only horizontal and verucal moves
with his or her piece on condition that the
total number of moves does not exceed 40
which at least 10 are

> 700

points and eéveéry vertical move costs 3
pomnts, and a player Sarah has only 800
points left. If &2 1s the number of
horizontal moves that Sarah can make,
and v 1s the number of vertucal moves
Sarah can make, which of the following
systems of inequalities best represents the
situation?
. h+v=40 \< Yo
h <10

5h + 3v < B800

B. h+v<40 —
h =10

h-l'-vSBOO
3

. h+v<a40.—
h=>10

Sh + 3v < 800

Math is Root of Knowledge
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Inegualilies (franslation)

L——/

Fred wants to save enough money to pay for a car
that costs §7,500 and 12 months of insurance that
costs 5110 per month. Fred has already saved $6,000

and plans to save an additional $350 per month.
Which inequality can be used to Getermine the
number of months, x, Fred could save in order to
have enough money to buy the car and pay for

12 months of insurance?

A) 7,500 - 110x £ 6,000 - 250(12)
B} 7,500+ 110x < 6,000 + 250{12}
C} 7.500~110(12) < 6,000 ~ 350x
D) 7,500+ 110(12) < 6,000 + 350

Mr. Kably
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Ryan has 1,500 yards of yarn. He wants to knit at
least 2 scarves and at least 3 hats. Each scarf requires

300 yards of yarn, and each hat requires 120 yards of
yarn. If s represents the number of scarves and

h represents the number of hats, which of the
following systems of inequalities represents this

situation?

A) s+h<1,500
§22
h>3

B) 25+ 3h < 1,500
§22
h>3

C) 2s+3h < 1,500
s 2 300
h>120

D) 300s+ 120h < 1,500
§22
h>3
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Basics Absolute Value

L2

If [4x + 2| < 10, How many possible values of

If |2b - 1| £ 3, howsmany possible integer .
values of b are there?
l e \/\
3 Z+\< Qb ’/‘ \< g +
&=
o B < LY '\'-f
1
,,4/1952 &
TPl C

— 3| 6. : ~ [f a 1s a solution of the equation
" |2x 3' 84, what 1s the greatest |2x —4| =5, what is the distance

possnble value of |3x -2 l? (Gl‘ id in) between a and the point of coordinate 2
< e | on the number line?
ML 2x-3 <M 3 J3(2-2|
A. 0.5
& ~. ~z 4 = %‘% B, 23
S C. 4.5
- D. 5
If|—2b — 3| < 7,@ow many)possible
integer values of b are there?
:7:3‘" b\/ —~
LS <« [ S !
L e
4 £32F S g
=%
0 B77
Q/ 1, 0/ -l =% ’31/“/’5@
Mr. Kably
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